3 c (3PLM-C)
4 @ 9 a ,
, a b ,a b ,a b , a
, a b ,a b a b 2 2
30 60 (3 3
5%, 10% 20% (4) 6
250 250 , 500 250 , 500
500 , 1000 250 , 1000 500 1000 1000
324 ©Ox 2x 3x 6)
1
5
1
2
3
4
5
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gugaauNgN R : F =1,000: 1,000 I——
: . ,
--------- m329@8U DIF 33 Raju »  duinsey quefaaungu R F
va |
| | 1
30 {0 (DIF 5%) 30 48 (DIF 10%) 30 {0 (DIF 20%)
60 8 (DIF 5%) 60 48 (DIF 10%) 60 40 (DIF 20%)
1 J
l I =i |
250 : 250 500.: 250 500 : 500
le
| I [
1,000 : 250 1,000 : 500 1,000 :1,000
! | J
¥
» M39@8U DIF
|
3% MH 7% SIBTEST 35 SIBTEST Uiulwi LR

I I l |
'

AUIUBIUIANITNARDY LAY

2 23 ..'
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5
1
IRTDATA (Johanson,1992)
IRT 3 c (BPLM-C)
Pi{0) =Ci+ (1- Ci){1+exp[-Ddj{0- 1)])
Pj(6) # /
0
al /
6/ /
g /
17
exp 2.71818...
IRTDATA
1 2 3
3,000 200
2 IRTDATA 1
IRTDATA 2 4
(1) temp.irt
(uniform normal) (D)
@ c)
{6)

(2) temp.itm

@) ©
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(3) temp.per

(true score) (0)
(4) temp.mat (0-1)
9 3
c D 1.7
2,000 90
4
4 (a) (b)
© (0)
b c 0
1 0.83 -1.34 0.20 0.00
2 0.83 0.00 0.20 0.00
3 0.83 +1.34 0.20 0.00
4 1.30 -1.34 0.20 0.00
5 1.30 0.00 0.20 0.00
6 1.30 +1.34 0.20 0.00
7 1.77 -1.34 0.20 0.00
8 1.77 0.00 0.20 0.00
9 1.77 +1.34 0.20 0.00

0.077 0.222 0.000 1.000



Xmax in Xmin

SD =

X max

Amin

9
20 ()
(111 < a < 1.50) (158 < a < 1.97)
(-1.93 < b < -0.67) (-0.59 < b < 0.64)
{9) -2.98< 6 <3.05
7 < X< 90
65 - 82
2

1 9
11  a b { =0.83
12 a b { =083
13 a b { =083
14 a b { =130
15 a b { =130
16 a b (0 =1.30
17 a b { =177
18 a b { =177
19 a b { =177

2 2
21 30
2.2 1 60

(c)

(0.60 < a < 1.06)

b =

(o
1l

(o
1l

S o o
1" 1] I

o
1

()
(0.76 < b < 1.91)

299 - 312

-1.34)
0.00)

+1.34)

=-1.34)

0.00)
+1.34)
-1.34)
0.00)
+1.34)

102

X)
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3 3
31 5%
3.2 10 %
3.3 20 %
4 6
4.1 250 250
4.2 500 250
4.3 500 500
4.4 1,000 250
4.5 1,000 500
4.6 1,000 1,000
1 SPSS for windows version 7.52
temp.mat
1,000 1,000
9 ( 9 ) 1
18
2, 1 @
C) IRT BILOG version 3.04 (Mislevy and Bock, 1990)
1,23
3 C
2 marginal maximum likelihood estimation (MMLE)
Bayes marginal maximum a posteriori estimation (MMAPE)
3 maximum likelihood estimation (MLE) expected a
posteriori estimation (EAPE) maximum likelihood posteriori estimation (MAPE)

BILOG 3
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() INPUT
CTT
(2) CALIBRATE (a
c)
(3) SCORE (0)
3
C (3PLM-C)
Raj (1990) 3 C
C
(infinite) (Kim and Cohen,
1991) MMLE
Qv 18
(slopes) (thresholds) (asymptotes)
9 83-91 313-321
3. -
2
(test
characteristic curve; TCC) stocking Lord (1983 cited in Kim and Cohen,
1992a) 2

EQUATE version 2.0 (Baker, 1993)



aif =Qjf/ A
bjf = Abjf /A+K

b*f i
aiF /
bjf Z

A (slope)

K (intercept)

(A) (K)

TF = x 1 P(OF’aR bR

*

Tj = @jF 'aiF 'biF )

2
P(@F' Av?)— P(@jF’aiFabiF).’

B>

Il
=|—
M=

o jf j

«

T |f j

fyr i
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ajr /
biR [
A K
9 92 322
4. -
BILOG 2 A K EQUATE 3
IRTDIF version 1.0
(Kim and Cohen, 1992b) DIF 3
- Lord (1980) Raju (1990)
Kim Cohen (1991) 1 2 3
3 C
Raju DIF
- Lord
DIF Kim Cohen
Raju DIF (aiR* a4 iF)
3 C

(exact unsigned area; EUA)

(Feinstein, 1995)

EUA = (1- c)\H\ aiR Aajp
2 - DaRap(bp -b
H = (ap-aR) ]1+exp arap(bp ) - (bp - bR)
Déaruvr ap -anRr
1
DIF
0'. '=0



EUA Z,

H;
Zi(H)= W—; ajR A ajF

Var(H) = BAVar(bR) + BFVar(bF) + ARVar(aR) + AjrVar(aFr)

+ 2BRARCov(bR,aR) + 2BF AF Cov(bF ,aF)

K 1+ exp(Y)

A 2 \aRaF{bR-bF) exp(F) In[l + exp(Y)]|

R=aR\ aR-aF 1+ expQO D J
2
ar
AF=——2AR
ar
Y (bF ~bR)
aF -aR
Var(bj)= ho~ ~ 2
al bj  Qjbj
Var(éj):“"'“ b — =
Ll 8. - Taipg
Cov(aj,bj) === a'b[

P(0)))

N 5 51—
I 2(9 b)[P(e) ] @) |

a;

(1—0)

02 . 21-F(6;)
_ Zl{[P(G ] ———1’,-(9,-)] }
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N
D 2dj
laibi at Ooi-

- j :

IRTDIF
01 .05 m
12 - 29
323-331
5.
1 12
332 - 349
6 12 3
48 , 28 , 27 24
5
60
1
2 30
3
4
5 60
6

5%
10%
20%

5%
10%
20%

108

bi Piin)-C] Y7
P:(6))
.001,
.05
9 ]
93-101
4
108 12- 20
2 3
57 ,5
5
6
5%, 10% 20% 30
2 28
3 27
6 24
3 57
6 4



6.
6
250 250 , 500 250 , 500
1000 500 1000 1000
324
X 2 X
6 )
3
1 DIF !
DIF

Stout Roussos version 11 (1992)

Puni = X ~ ~ Rk ~"Fk)

J3uni

YRK

TFk

Pk (

500

1000

, 1000

1000

250

SIBTEST

109



Pk
Jjr*
j Rk
P uni
4
a(Pu)
cr(Puni)
2 (Y\k,9)

Jgk

P (J Rk
k.-..

+JFk)

X (JRk+ JFK)

k=0

DIF

HO wPuni =0

H Puni>0

.05

°uni =

Bmi

P uni

a(Puni)

a(Pu,l=jE

h 2[j~-a 2(ilk, R) + 77

P uni

110

110

a2(Hi, F)"
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.05
Buni > Za .05 Hq
2. DIF
1
DIF
2
DIF
SIBTEST Stout Roussos version 1.1 (1992)
1
.05
3. DIF -
DIF -
MHDIF version 1.0 (Fidalgo, 1995) Mazor (1994)
75
5,000 DIF
7 0.1,0.05, 0.025, 0.02, 0.01,
0.005 0.001 DIF - '
T ajDj/Tj
a MH =

£ bjcjl/tj



MH

AJ

cj
DJ

my

m 0]
nRj

nFj

nR

np.

Hot /(1—7sz)]=[7er/(1—7:,¢].)] 7=1.2,3..K

DIF

112

SR /(I_HRJ)]:'“{”FJ /(1—”Fj)] ] =12,3.Ka*1

a MH

1 (df = 1)

K

2JAj- E(A]) -05

. 7=1

'Zvar(Aj)

% 2
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nRjnF
Var(Aj) =
tJ {Tj -1)
E("D 7
Var(A)j) 7
DIF
1 MHDIF
DIF 2
DIF
1
2
1
I (purification of matching criterion)
a MH - - {% thh)
.05
4, DIF

DIF

SPSS/PC+ version 4.01

logit [P (Upj = 11X)] = r0+ \X + t2G + t3(XG)

logit [P((7p?= 11X)] log
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Xpj 1? y

r3

Gj y

(total test score)

Gp =1

t2 r3 2:-3:0
12+ 0 r3=0
V3= 0{2=0 )

( and Stout, 1996) DIF

X2=tc\cVY,c'Yxct

f,=[r0,rLr2,r3

C 2x4

@
ri—-u

- (asymptotic X 2
distribution) 2 (df = 2
.05



Raju
Raju
Raju

P
£1

\

2
W

N2

P ="LxIOO

£1=-7-X100

115

DIF

DIF Raju

102 350 - 359



3 6

(two-way ANOVA)

Tukey

t-test

(one-way ANOVA)

(independent sample)
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